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CF 42— SOTL MECHANICS

e

LATIONS 2008)
Tome - Thes houes Masimum : 100 macks
Answer ALL questions.

PART A (10 x 2 20 marks)

1 Estimate porossy if the void rati s 0.72
Define Doty Index.
3 What isseepage velocits?
A St he factons afecting permeabilit of the soil.
5 Whatsan lsobar
6. How comsolidation difors o Campaction”
% e the Mobr' circle fo the UCC test.

8 List out the advantiges of triaial fest over the direet

shear st
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et e e differert ypos of Sidare in Gt sdopes?

What = Te

som Ceack? T which tspe of soil does it

PARTR (5 16= 80 marks)

A 2000ce core eutier weighing 1021 was wed 10
i the sstn unit weght of sul m
ombankemernt. The weight of core cutter with st
ol wae shesrved to be 52 1N. Laboratory fosts o
T oyl micatcd water contont of 7% and
e eavity of sail solids of 265, Determine the
T ke weight, dry wmst weazht, vorl atio sl
e Yavration. Also calealate the scsratud
e bt amd the cozresponding woter content if
e bk i sacurated witbout any hagze 18

Voume.
ar

vplain modbied proctor’s compaetion test in decanl
T oes it dffer from  Standuxd  Proctors
compaction Test”

Lt Tocation. the sl prosle cowsate of fine sl
vt satiu o1 065 up 10 12 thackness, Watwt
LTt e elow sround Tevel. The sand has
Mearation of 0% abave water table

fve sereca at a depth f 11 el
round Jovel, Wat will be the i eictive
Sven if the il gets saturated by capi
o height of 1 Wt table? Take G = 265

or

)
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State the assumptions made in the analysin of friic
Tlopes, Fxglain the methd of sices for L the
factur of safers of the fute slope.

or

A cot il slope 1:15 was made 12 a clay deposic
' depth of 10m. The unic weight of elay is
St Determime the factor of safery on a shp
Do which anakes 5n angle of 227 at the toe of the
‘e The shear =t

Sip plane are ¢
resistance O





